

$$\sqrt{u} = t \Rightarrow f(u) = t^2 + t \quad \text{---} \quad f(u) \Rightarrow y = t^2 + t + \frac{1}{t} - \frac{1}{t} \quad (1)$$

$$\Rightarrow (t + \frac{1}{t})^2 - \frac{1}{t^2} = y \Rightarrow y = (\sqrt{u} + \frac{1}{\sqrt{u}})^2 - \frac{1}{u} \Rightarrow u = (\sqrt{y} + \frac{1}{\sqrt{y}})^2 - \frac{1}{y}$$

$$\Rightarrow u + \frac{1}{y} = (\sqrt{y} + \frac{1}{\sqrt{y}})^2 \Rightarrow \pm \sqrt{u + \frac{1}{y}} = \sqrt{y} + \frac{1}{\sqrt{y}} \Rightarrow + \sqrt{u + \frac{1}{y}} - \frac{1}{\sqrt{y}} = \sqrt{y}$$

$$\Rightarrow y = u + \frac{1}{y} - \sqrt{u + \frac{1}{y}} \Rightarrow \begin{cases} a = 1 \\ b = \frac{1}{y} \\ c = -\frac{1}{\sqrt{y}} \end{cases} \quad (5)$$

$$a + 2b + 3c \Rightarrow 1 + 1 - 1 = 1$$

$$y = \frac{u}{\sqrt{u^2 - 1}} \quad f(u_1) = f(u_2) \Rightarrow \frac{u_1}{\sqrt{u_1^2 - 1}} = \frac{u_2}{\sqrt{u_2^2 - 1}} \quad (1)$$

$$\Rightarrow \frac{u_1^2}{u_1^2 - 1} = \frac{u_2^2}{u_2^2 - 1} \Rightarrow u_1^2 u_2^2 - 2u_1^2 = u_1^2 u_2^2 - 2u_2^2$$

$$\Rightarrow u_1^2 = u_2^2 \Rightarrow u_1 = \pm u_2$$

$u_1 = u_2 \leftarrow \text{if } u_1 = u_2 \text{ then } y = \frac{u}{\sqrt{u^2 - 1}}$

$$f(u) \Rightarrow u = \frac{y}{\sqrt{y^2 - 1}} \Rightarrow u^2 = \frac{y^2}{y^2 - 1} \Rightarrow y^2 u^2 - 2u^2 = y^2 \Rightarrow$$

$$y^2 u^2 - y^2 = 2u^2 \Rightarrow y^2 = \frac{2u^2}{u^2 - 1} \Rightarrow y = \pm \sqrt{\frac{2u^2}{u^2 - 1}} \Rightarrow y = \frac{\sqrt{2} u}{\sqrt{u^2 - 1}}$$

$$\text{if } u > 0 \Rightarrow y = \frac{u}{1+u} \Rightarrow y(1+u) = u \Rightarrow y + yu = u \Rightarrow$$

$$y = u(1-y) \Rightarrow u = \frac{y}{1-y}$$

$$\text{if } u < 0 \Rightarrow y = \frac{u}{1-u} \Rightarrow y(1-u) = u \Rightarrow y - yu = u \Rightarrow y = u(1+y)$$

$$\Rightarrow u = \frac{y}{1+y} \quad f(u) = \begin{cases} \frac{u}{1-u} & u \geq 0 \\ \frac{u}{1+u} & u < 0 \end{cases} \Rightarrow f\left(\frac{-y}{1+y}\right) = \frac{-y}{1+y} \Rightarrow -\frac{y}{1+y}$$

$$g(u) = \sqrt{u} - 1 \Rightarrow y = \sqrt{u} - 1 \Rightarrow y + 1 = \sqrt{u} \Rightarrow u = (y+1)^2 \Rightarrow g^{-1}(u) = (u+1)^2$$

$$g^{-1}\left(-\frac{y}{1+y}\right) \Rightarrow \left(-\frac{y}{1+y} + 1\right)^2 = \frac{y}{1+y} \quad \left. \begin{aligned} -\frac{y}{1+y} + \frac{1}{1+y} &= \frac{-y+1}{1+y} \\ &= \frac{1-y}{1+y} \end{aligned} \right\}$$

$$f^{-1}(u) = \sqrt[p]{u-1} \Rightarrow y^p = u-1 \Rightarrow u = y^p + 1$$

(12)

$$\Rightarrow f(x) = u^p + 1$$

$$g(u) = f(x) + \sqrt{f(x)} = (u^p + 1) + \sqrt{u^p + 1} \Rightarrow z = \sqrt{u^p + 1}$$

$$\Rightarrow u^p + 1 = z^2 \Rightarrow y = z^2 + z \Rightarrow z^2 + z - y = 0$$

(5)

$$\Rightarrow z = \frac{-1 \pm \sqrt{1+4y}}{2} \quad \sqrt{u^p+1} \geq 0 \Rightarrow z = \frac{-1 + \sqrt{1+4y}}{2}$$

$$\Rightarrow u^p + 1 = z^2 \Rightarrow u^p = z^2 - 1 \Rightarrow u = \sqrt[p]{z^2 - 1}$$

$$\Rightarrow u = \sqrt[p]{\left(\frac{-1 + \sqrt{1+4y}}{2}\right)^2 - 1} \Rightarrow g^{-1}(u) = \sqrt[p]{\left(\frac{-1 + \sqrt{1+4y}}{2}\right)^2 - 1}$$

$$\Rightarrow g^{-1}(12) = \sqrt[p]{\left(\frac{-1 + \sqrt{1+49}}{2}\right)^2 - 1} = \sqrt[p]{1} = 1$$